(36vernment of Jammu and Kashmir (3ffles of the Superintending Englineer Hydraulic rircle Polwama Hq; Shopian Address: Buleina Shupian, Emalleshvihaulicshupian@gmall.com , Phone/Fax: 01933260250

Alletment Order No. 4E/HVD/4PN/Allet/HM/ OT of 2022-23 Dated: [C) /12/2022.

Subject: Construction of WSS Gundbal Andronsa by way of laying/fitting SR slote chamber, retaining wall/Breast wall, Chowledar quarter, layortory block, sadle block, approach road and development to premises under DM.

Heli

- L tescultive Engliser fal Shakti PHE Division Awantipora's E NIT No. 05 of 2022-23, dated: 25-04 3033
- II. Executive Engineer fal Shakti PHE Division Awantipora's Letter No. PHA/3188 89, dated: 23-08 코이크로 and Nic PHA/5599 5600, dated: 02-12-2022.
- III This office letter of intent (sound yide No. 3861-64, dated) 15-09-2022
- Willington meeting DIIM Pulwama and approval thereof held on 05-09-2022 issued yide No. 4547-46, dated: 05-09-2022
- v. Accord of administrative approval order No. CE/PHF/DB/207 of 05/2021, dated: 28:05-2021 lastical vide No. CE/PHF/DB/8989 98, dated: 28:05-2021 by Chief Engineer Jal Shakti (PHE) Department Schagger Kashmir.
- VI. Technical Sanction order No. CE/PHE/DB/ 504 of 09/2022 dated: 09-09-2022 issued vide No. CE/PHE/DB/31134-3B, dated: 09-09-2022 by Chief Engineer Ial Shakti (PHE) Department Srinagar Rashout.

Advertised Cost: Its, 203,42 Jacs (Rupees Two Crore three Jac and forty two thousand only). Alloted Cost: Its, 161,92 Jacs (Rupees One Core Sixty one Jac and ninety two thousand only). Head of Account: MH-4215 JJM.

ORDER

For and on behalf of It. Governor of J&K Union Territory contract for "Construction of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast wall, Chowkidar quarter, lavortory block, sadle block, approach road and development fo premises under JJM "of Division Awantipora of Kashmir Province of U1 of J&K, under Jal Jeevan Mission (JJM) is hereby allotted in favour of M/S: New Zeal Construction Co., Managing Partneri Mushtaq Ahmad Para, R/o: Panthchowk Srinagar bearing Registration No. (A) Class Civil/Plant Holder/CE (R&B)K-05/2011-2012 at the rates approved as Shown in "Annexure A" to this allotment order.

Performance security deposited by contractor vide BG No. 02571PBG2212001, dated: 09-12-2022 for an amount of Rs. 528000.00 is being retained as Security deposit in the Circle office.

Terms and conditions:

The contract shall be governed by the following terms and conditions:

- The cost of work in no case exceed beyond Rs. 161.92 lac (Rupees One crore sixty one lac and ninety two thousand only).
- 2. The date of start of the subject work shall be reckoned from the date of Issuance of this allotment order/L.O.I. Given the fact that Letter of Intent stands already stands issued by this office vide. No.3861-64, dated: 15-09-2022. In case of failure to start the work within three days of issuance of this L.O.I / allotment action as warranted shall be initiated.
- 3. As soon as letter of award is communicated to the firm, the contract shall be complete and binding upon them, the bidder/firm shall also be required to execute an agreement with the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, prevent this contract from being enforced against the firm and the date of delivery of the material/completion of works shall be reckoned from the date of issue of L.O.I/ allotment order in favour of successful firm.
- 4. Performance security equivalent to 03% of the valve of the contract which works out to Rs. 528000.00 /- shall be retained by this office till the work is completed and DLP is over.
- The work shall have to be completed within a period of 180 working days from the date of issuance of this
 allotment order/L.O.I failing which penalty upto 10% of the total value of contract shall be imposed upon you.
- 6. The defects Liability period shall be for a period as mentioned in Standard Bidding Document/E-Nit which shall commence after the successful completion of Trial run, during the defects Liability period (DLP) the agency

Med

canto.

Myse

have to operate & maintain the scheme as it is required for its successful running & as per Standard Engineering Practices, to the full satisfaction of the department. The agency shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP. In case any defect remains unattended by the agency at the completion of DLP, the department may extend the DLP for such time as deemed fit for getting the defect rectified subject to a maximum ceiling of 6 Months

- All other terms and conditions and technical specifications shall remain the same as laid down in the Standard Bid Document of the subject e-NIT and Terms & Conditions thereof read with the corrigenda, DJJM Minutes of meeting.
- 8. The items in this allotment are not duplicated/reflected in any other allotment order.

Superintending Engineer Hydraulic Circle Pulwama

Hq: Shopian.

No. SE/HYD/SPN/Allot/CC/ 5895-5900 Dated: 10 /12 / 2022.

Copy to the:

- 1. Mission Director JJM J&K Civil Secretariat Srinagar/Jammu for favour of information.
- 2. Chief Engineer Jal Shakti (PHE) Department Srinagar for Yavour of information.
- 3. District Development Commissioner Pulwama (Chairman DJJM Pulwama) for favour of information.
- 4. Executive Engineer Jal Shakti (PHE) Division Awartipora for information and necessary action. He is directed to get the work executed as per approved drawings/specifications within allotted cost.
- 5. TO/HD Circle office for information and record.
- 6. M/S: New Zeal Construction Co., Managing Partner: Mushtaq Ahmad Para, R/o: Panthchowk Srinagar.

action of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast chowkidar quarter, lavortory block, sadle block, approach road and development fo premises under

Allotment Order No: SE/HYD/SPN/Allot/JJM/ D7 of 2022-23, Dated: 10 /12/2022.

No.	Item of work	Jnit	Qty	Rate	Amount	Amount In figures
1	Demolishing cement concrete manually/by mechanical means including disposal of material within 50 meters lead as per direction of Engineer-incharge: 1:3:6 or richer mix (i/c equivalent design mix)	cum	37.50	1459.36	54725.85	Fifty four thousand seven hundred twenty five and eighty five paisa only
2	Dismantling G.I. pipes (external work) including excavation and refilling trenches after taking out the pipes.		300.00	92.77	27830.25	Twenty seven thousand eighty hundred thirty and twenty five paisa only
3	Above 40mm	mtr	400.00	102.90	41161.80	Forty one thousand one hundred sixty one and eighty paisa only
4	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge).	cum	7397.62	405.48	2999586.9 6	Twenty nine lac ninety nine thousand five hundred eighty six and ninety six paisa only
5	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	cum	9.75	6490.22	63279.63	Sixty three thousand two hundred seventy nine and sixty three paisa only
6	Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes, fittings and Earth work.100 mm dia G.I	mtr	1600.00	100.16	160257.60	One lac sixty thousand two hundred fifty seven and sixty paisa only
7	80 mm dia GI Pipes	mtr	2500.00	67.94	169841.2	One lac sixty nine thousand eight hundred forty one and twenty five paisa only
8	65 mm dia G.I	mtr	100.00	67.94	6793.65	Six thousand seven hundred and ninety three only
9	50 mm dia GI Pipes	mtr	6600.00	37.94	250430.4	Two lac fifty thousand four hundred thirty and forty paisa only
10	40 mm dia GI Pipes	mtr	6500.00	37.94	246636.0	Two los fortu dis the
11	25 mm dia GI Pipes	mtr	6100.00	28.50	173877.	One lac seventy three thousand eight hundred seventy seven and forty fiv paisa only
12	20 mm dia GI Pipes	mtr	6100.00	18.8	3 114878.	One lac fourteen thousand
13	15 mm dia GI Pipes	mtr	11500.0	0 18.8	33 216573	Two lac sixteen thousand .75 five hundred seventy three
14	Providing & fixing of MS Flanges to GI pipe including cutting of threaded portion, welding, cost of nuts, bolts ar washers with testing after completion of work including all carriages comple for:100 mm dia	nd join	t 130.00	1116	5.00 145080	O.00 One lac forty five thousar
15	80mm	joir	195.00	930	.00 18135	0.00 One lac eighty one thousa

bwkidar quarter, lavortory block, sadle block, approach road and development to premises under

		No.	MOLK	11	nit		f 2022-23,	Dated:	<i>O</i> /12/2022.
		16	65mm	-	-	Qty	Rate	Amount	Amount in figures
		Balancia, per artis	Making connection of G.I. distribut		pint	60.00	837.00	50220.00	Fifty thousand two hundred and twenty only
		17	by providing and fixing Tee, including and threading the pipe etc. complete 25 to 40 mm nominal bor	sizes ng ea	ich	300.00	619.61	185883.75	One lac eighty five thousand eight hundred eighty three and seventy five paisa only
		18	50 to 80 mm nominal bore	ea	ch	80.00	1179.94	94395.00	Ninety four thousand three hundred and ninety five
	1:		Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers no exceeding 20 cm in depth, consolidating each deposited layer b ramming and watering, lead upto 50 and lift upto 1.5 m.	cur	m	5907.38	184.79	1091629.73	Ten lac ninety one thousand six hundred twenty nine and seventy three paisa only
	20	1	P/F of regulatory valves of reputed make with ISI mark including cost of fixing flanges , nuts, bolts, washers, to pleces complete 100 mm dia 80 mm dia	ail No.		13.00	11160.00	145080.00	One lac forty five thousand and eighty only
1	22	6	5mm GI	No.		16.00	9300.00	148800.00	One lac forty eight thousand and eight hundred only
	23	1	00mm Air Valve	No.		6.00	8370.00	50220.00	Fifty thousand two hundred and twenty only
	24	10	00mm NRV	No.		2.00	18600.00	37200,00	Thirty seven thousand and two hundred only
1	25	10	Omm Foot valve	No.	-	2.00	13950.00	27900.00	Twenty seven thousand and nine hundred only
	26		mm dia Air Valve	No.		2.00	12090.00	24180.00	Twenty four thousand one hundred and eighty only
	27	-	mm NRV	No.	and a second	3.00	13950.00	41850.00	Forty one thousand eighty hundred and fifty only
Parkton en	28	80r	nm Foot valve	No.		2.00	13020.00	26040.00	Twenty six thousand and forty only
	TAN MAY CONTROL OF THE PARTY OF	Pro	riding and fixing 12mm think	No.		2.00	12090.00	24180.00	Twenty four thousand one hundred and eighty only
23	9 a a a a a a a a a a a a a a a a a a a	presipress parti 1282 in alu shutt brass compliand di 12.2.1 vith di de an de.	aminated particle board flat sed three layer or graded wood cle board (conforming to 15: 3 Grade-I type-II) in panelling fixed minum doors, windows ers and partition frames with C.P. / stainless steel screws etc. lete as per architectural drawings rections of engineer-incharge. Pre-laminated particle board ecorative lamination on other dispenses of false wood work in frames of false	sqm	3	4,44	1036.58	35699.75	Thirty five thousand six hundred ninety nine and seventy five paisa
30	po	iling, sition	partitions etc. sawn and fixed in ,Budloo/Fir wood every additional lift of 1.5 m or	cum	0	.34	55895.60	19004.51	Nineteen thousand four and fifty one paisa only
l months again	exc. of se	t ther avate oil :	eof in excavation/banking d or stacked material All kinds	cum	116	5.47	75.93	8844.09	Eighty thousand eighty hundred and forty four onli
	(dull	y han	and laying of stone soling d packed) on horizontal level.	cum	187	.93	573.25	107731.25	One lac seven thousand seven hundred thirty one
The state of the s	concr curing centri plinth coarse	rete o g but ing an level i sand	and laying in position cement of specified grade including excluding the cost of ad shuttering. All work upto with: 1:4:8 (1 cement : 4 of: 8 graded stone aggregate inal size).	cum	113	.62	4521.51	513733.57	and twenty five paisa only Five lac thirteen thousand seven hundred thirty three and fifty seven paisa only

11

on of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast wkidar quarter, lavortory block, sadle block, approach road and development fo premises under

Allotment Order No: SE/HYD/SPN/Allot/JJM/ () 7 of 2022-23, Dated: 10 /12/2022.

S. No.	Item of work	Unit	Qty	Rate	Amount	Amount in figures
34	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:3:6 (1 cement: 3 coarse sand: 6 graded stone aggregate 40 mm nominal size)	cum	203.58	5021.09	1022193.22	Ten lac twenty two thousand one hundred ninety three and twenty two paisa only
35	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	cum	49.11	6490.17	318732.14	Three lac eighteen thousand seven hundred thirty two and fourteen paisa only
36	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchors blocks, plain window sills, fillets etc upto floor V level, including curing but excluding the cost of centring, shuttering and finishing with. 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size).	cum	75.60	8487.46	641652.18	Six lac forty one thousand six hundred fifty two thousand and eighteen paisa only
37	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40mm nominal size).	cum	89.86	5983.63	537688.93	Five lac thirty seven thousand six hundred eighty eight and ninety three paisa only
38	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work	sqm	439.10	113.41	49799.87	Forty nine thousand seven hundred ninety nine and eighty seven paisa only
39	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level: Thermo-Mechanically Treated bars of grade Fe-500D or more.	kg	7446.00	81.07	603667.70	Six lac three thousand six hundred sixty seven and seventy paisa only
40	Providing and laying 50 mm thick cement concrete flooring with floating coat of neat cement	sqm	20.12	469.65	9449.36	Nine thousand four hundred forty nine and
41	Engangement of welder for welding of damaged spots incld. Making grid of new system with old existing system incld cost of welder ,generator vehicle carrying the equipment with driver full	Day	5.00	6975.00	34875.00	Thirty four thousand eight hundred and seventy five only
42	Centering, shuttering including strutting, propping etc and removal of form for:Foundation, footings, bases of columns etc. for mass concrete.	sqm	1236.02	243.94	301513.48	Three lac one thousand five hundred thirteen and forty eight paisa only

from of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast wkidar quarter, lavortory block, sadle block, approach road and development fo premises under

Allotment Order No: SE/HYD/SPN/Allot/JJM/ 07 of 2022-23, Dated: 10 /12/2022.

No.	Item of work	Unit	Qtγ		Rate	F	Amount	Am	ount in figures	
43	Walls (any thickness) including attached pilasters, buttresses, plinth and string courses etc.	sqm	451	1.52	533.68	3	240967.42	hune	c forty thousand nine dred sixty seven and rty two paisa only	
44	Columns, pillars, piers, abutments, posts and struts.	sqm	201	5.20	632.5	4	129797.11		ne lac twenty nine usand seven hundred ety seven and eleven paisa only	
45	Lintel, beams, plinth beams, girders, bressumers and cantilevers.	sqm	10	5.06	467.6	55	7510.47	h	even thousand five undred ten and forty seven palsa only ty one thousand eight	
46	Suspended floors, roofs, landings, balconies, and access platform.	sqm	5	3.94	591.	11	31884.37	hu	ndred eighty four and nirty seven paisa only enty four thousand two	
47	Edges of slabs and breaks in floors and walls. Under 20cms wide	Mtr	10	07.68	225.	34	24264.50	1	ndred sixty four and fifty paisa only	
48	providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. 10.5.1 Using M.S. angles 40x40x6mm for diagonal braces	sqm		2.46	404	8.24	9958.68		Nine thousand nine ndred fifty eight and sixty eight paisa only	
49	Extra for brick work with common burnt clay bricks/cement concrete bricks in superstructure above plinth level upto floor five level	cun	1	14.02	12	30.99	17258		Seventeen thousand two nundred fifty eight and fifty four paisa only	·
50	12mm Cement plaster finished with a floating coat of neat cement of mix: 1 3 (1 cement : 3 fine sand)	L: sqr	n	259.79	3	19.69	8305:	1.62	Eighty three thousand fift one and sixty two paisa on	y
51	Providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification. (1 kg of water proofing material in 50 kg of cement)	Kį	gs	32.73		53.85	176	2.41	One thousand seven hundred sixty two and fo one paisa only	prty
52	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed a fixed in position with hold fast lugs o with dash fasteners of required dia a length (hold fast lugs or with dash fasteners shall be paid for separateh 9.1.1 First classkail wood	ind c	um	0.38		99411.	42 37	776.34	Thirty seven thousa seven hundred seven and thirty four paisa	ty six
53	Providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws. First class kall wood 35mm		sqm	12.4	0	3465	.23 4	2968.81	Forty two thousan hundred sixty eigh eighty one paisa	ty and
54	Brick work with common burnt clar (non-modular) bricks of class designation 7.5 in foundation and including curing in: Cement mortal 1 cement : 6 coarse sand)	plinth	cum	26.	45	575	0.89	152110.9	One lac fifty two to one hundred ten a seven paisa	nd nine

Atlan of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast fewkildar quarter, lavortory block, sadie block, approach road and development fo premises under

Allotment Order No: SE/HYD/SPN/Allot/IJM/ δ 7 of 2022-23, Dated: 1δ /12/2022.

No.	Item of work	Unit	Qty	Rate	Amount	Amount in figures
55	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clarestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineerin-charge. (Note: Butt hinges and necessary screws shall be paid separately). First class kall wood 35mm	sqm	12,95	2877,23	37260.18	Thirty seven thousand two hundred sixty and eighteen paisa only
56	Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40 mm thick. First class kall wood	sqm	6.07	2326.26	14120.37	Fourteen thousand one hundred twenty and seventy three paisa only
57	Providing and fixing 35 MM wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finishe of required size with necessary screws as per direction of Engineer-in-charge First class kall wood	sqm	13.10	3396.0	44488.05	Forty four thousand four hundred and eighty eight only
58	Providing and fixing G.I. chain link fabr fencing of required width in mesh size 50x50 mm including strengthening wil 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-Incharge. 16.25.1 Made of G.I. wire of dia 4 m	th sqm	468.00	682.:	319248.5	Thee lac nineteen thousand two hundred forty eighty and fifty four paisa only
59	Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates an similar works.	d	5181.91	94.	99 492206	Four lac ninety two thousand two hundred six and fifty seven paisa only
60	position and applying a priming coat approved steel primer all complete.	ie, kg	3334.00	84	.65 282233	Two lac eighty two thousand two hundred thirty thee and ninety foul paisa only
6	Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat approved steel primer all complete. Welded in gratings, frames, guard b ladder, railings, brackets, gates and similar works.	ar,	g 600.0	0 13	66.37 8181	Eighty one thousand eigh 9.54 hundred nineteen and fif four paisa only





tion of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast owkidar quarter, lavortory block, sadle block, approach road and development fo premises under

Allotment Order No: SE/HYD/SPN/Allot/JJM/ 07 of 2022-23, Dated: __/O__/12/2022.

	s. No	o. Item of work	Uni	t Qty	Rate	Amount	Amount in figures
	62	Providing and fixing plained eaves boarding. 12.69.1 2nd class Kail wood 250x32 mm (nominal size)	d sqm	38.46	645.33	24819.28	Twenty four thousand eight hundred nineteen and twenty eighty paisa only
	63	Finishing walls with water proofing cement paint of required shade on Nework (two or more coats applied @ 3.84 kg/10sqm)	w sqm	667.94	85.37	57024.71	Fifty seven thousand twenty four and seventy one paisa only
	64	Dry random rubble masonry with hard stone in foundation and plinth: With bond stone (Quarry)	cum	15.90	2322.68	36930.53	Thirty six thousand nine hundred thirty and fifty three paisa only
	65	12mm Cement plaster finished with a floating coat of neat cement of mix: 1 4 (1 cement : 4 fine sand)	: sqm	420.00	302.67	127120.77	One lac twenty seven thousand one hundred twenty and seventy seven paisa only
	66	12mm Cement plaster of mix: 1:4 (1 cement: 4 fine sand)	sqm	1059.70	241.85	256284.74	Two lac fifty six thousand two hundred eighty four and seventy four paisa only
		Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer- in-Charge, in skirting, risers of steps and dados over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.		87.41	1079.78	94383.26	Ninety four thousand three hundred eighty three and twenty six paisa only
6	8 le fii cu flc vit	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm sand cast Iron P or Strap, LO litre low level P.V. C. flushing cistern including flush pipe (of approved make) inanually controlled device (handle ever) conforming to IS:7231, with all titings and fixtures complete, including titing and making good the walls and pors wherever required. White treous china W.C. pan of size 580x440 m with integral type foot rests.	each	3.00	5147.41	15442.23	Fifteen thousand four hundred forty two and twenty three paisa only
69	floor specific quality appropriate decoration of the color color functions appropriate decoration of the color function of the color	parse sand) including pointing the ts with white cement and matching nent etc., complete. In all urs, shades, except White, Ivory, e Red Brown	sqm	24.77	1037.69	25703.68	Twenty five thousand seven hundred three and sixty eight paisa only
0	appro over	iding and applying white cement d putty of specified thickness, of eved brand and manufacturer, the plastered wall surface to are the surface even and smooth lete. 13.88.1 1 mm thick	sm	85.74	120.44	10326.10	Ten thousand three hundred twenty six and ten paisa only

on of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast wkidar quarter, lavortory block, sadle block, approach road and development fo premises under

Allotment Order No: SE/HYD/SPN/Allot/JJM/ 07 of 2022-23,

Dated: 10 /12/2022

/			U + of 20	022-23,	Dated:	0 /12/2022.
s, No		Unit	Qty	Rate	Amount	Amount in figures
71	Distempering with 1st quality acrylic distemper, having VOC (Volatile Organic Compound) content less than 50 grams/ liter, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour. Two coats	sqm	148.06	73.14	10829.77	Ten thousand eight hundred twenty nine and seventy seven paisa only
72	Providing ridges or hips of width 60cm overall width plain G.S. sheets fixed with polymer coated J. or L hooks, bolts and nuts 8mm dia G.I. limpet and bitumen washers complete. 0.63 mm thick with zinc coating not less than 275 gram/m2	mtr	33.88	642.96	21783.33	Twenty one thousand seven hundred eighty three and thirty thee paisa only
73	P/F of 12 mm thick ply board soffit along with supporting of 1st class papular wood	sm	23.08	790.50	18244.74	Eighteen thousand two hundred forty four and seventy four paisa only
74	Providing and fixing precoated galvanized iron profile sheets (size, shapeand pitch of corrugation as approved by Engineer-in-charge) 0.50 mm (+0.05 %) total coated thickness with zinc coating 120 grams per sqm as per 15: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineer-in-charge. The sheet shall be fixed using self drilling /self tapping screws of size (5.5x 55 mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	Sqm	192.40	582.41	112056.17	One lac twelve thousand fifty six and seventeen paisa only
75	Preparation of subgrade by excavating earth to an average of 22.5 cm depth, dressing to camber and consolidation with road roller of 8-12 tonne capacity including making good the undulation etc. and disposal of surplus earth upto 50 meters	sm	1800.00	67.80	122034.60	One lac twenty two thousand thirty four and sixty paisa only
76	Supplying and stacking at site 16.4.1 Graded crushed stone aggregate of size 90 mm to 45 mm	cum	168.30	401.02	67490.99	Sixty seven thousand four hundred ninety and ninety nine paisa only
77	63 mm to 45 mm	cum	129.94	524.52	68156.13	Sixty eight thousand one hundred fifty six and
78	53 mm to 22.4 mm	cum	129.94	535.03	69521.67	Sixty nine thousand five hundred twenty one and
79	Grade Ist		150.00	661.09	99163.58	Ninety nine thousand one hundred sixty three and fifty
30	Grade 2nd		112.50	362.24	40751.44	eight paisa only Forty thousand seven hundred fifty one and forty four paisa only
81	Grade 3rd		112.50	362.24	40751.44	Forty thousand seven hundred fifty one and forty four paisa only

SUPHD HO

To

INDIS.E

on of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast wkidar quarter, lavortory block, sadle block, approach road and development fo premises under

Dated: _/O /12/2022. Notment Order No: SE/HYD/SPN/Allot/JJM/ 07 of 2022-23, Amount in figures Amount Rate Item of work Qty Unit Four thousand six hundred No. seventy seven and ninety Engagement of Labours for cleaning of 4677.90 467.79 paisa only 10.00 No. roof gable and disposal of same Fourteen thousand seven 82 hundred forty five and 14745.15 Supply, spreading of stone fifteen paisa only 491.51 30.00 cum dust/moorum at site 83 Seven thousand five P/F of PVC sanitary fittings with all hundred and thirty thee 7533.00 279.00 accessiories of reputed compant with only 27.00 all accessiories c. job (to be paid as per 84 Six thousand two hundred actual) m seventy seven and fifty 6277.50 232.50 paisa only 27.00 PVC pipe 75mm Seven thousand nine 85 hundred fifty one and fifty m 7951.50 paisa only 883.50 9.00 Six thousand five hundred Angle Valve 86 No and ten only 6510.00 930.00 Two thousand three 7.00 Bib Cock CP hundred and twenty five No 87 2325.00 2325.00 only 1.00 One thousand one hundred Basin Mixer CP 88 No and sixteen only 1116.00 279.00 Nine hundred and thirty 4.00 **PVC Flow trap** No only 930.00 232.50 Two thousand two hundred 4.00 Door bend/Tee 100mm/75mm No and thirty two only 90 2232.00 186.00 Ten thousand three and 12.00 PVC bends 100/75mm No hundred seventy five only 10375.08 91 259.38 40.00 Μ 15mm dia internal pipe Eight thousand three 92 P/F of plumbing & electrition items of hundred and seventy only 8370.00 930.00 reputed make with ISI mark complete 9.00 job (To be paid as per actualOLighting 93 Five thousand five hundred No points 1.5mm sq wire 5580.00 and eighty only 1395.00 4.00 One thousand eight Heating points 2.5mm sq wire 94 No hundred and sixty only 1860.00 1860.00 1.00 Two thousand sever P/F of ceiling fan 1200mm sweep No hundred and ninety only 2790.00 95 930.00 3.00 Thirty three thousand four P/F of exaust fan 300mm No hundred and eighty only 33480.00 96 11160.00 3.00 P/F of 25 liter Gyser inclding all fitting/fixures complete 97 Three lac fourteen thousand Cutting road and making good the same nine hundred forty one and including supply of extra 314941.40 forty paisa only 3130.01 quantities of material i.e. crushed 100.62 cum aggregate, moorum screening, red bajri 98 and labour required. 16.14.1 Bituminous portion Three lac fifty five thousand Supplyng, laying, spreading and two hundred fifteen and 355215.84 compacing of extra quantities of 1176.76 eighty four paisa only 301.86 materiales, i.e crushed aggregate, cum 99 mooram, screening, red bajri and Providing and placing on terrace (at all floor levels) polyethylene water Twenty thousand nine storage tank ISI: 12701 marked, with hundred and twenty five 20925.00 10.46 cover and suitable locking 2000.00 only Liters arrangement and making necessary 100 holes for inlet, outlet and overflow pipes but without fittings and the base support for tank Providing and laying damp-proof Five thousand seven hundred fourteen and forty Course 50 mm thick with cement 5714.45 346.75 five paisa only 16.48 concrete 1:2:4 (1 cement:2 coarse sand: 4 graded stone 101 aggregate 20 mm nominal size) and Five thousand four hundred curing complete twenty one and thirty four 5421.34 Providing and fixing of salem stainless 5421.34 paisa only 1.00 each stell Kitchen Sink size 610x510x200mm 102

SOMO



on of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast wilder quarter, lavortory block, sadle block, approach road and development fo premises under

		\$	ilotment Order No: SE/H	IYD/SP	N/Allot	/JJM/ 07	of 2022-23	, Dated: _	<i> 0_</i> /12/2022.
		No.	Item of work		Uni		Rate		Amount in figures
	1	103	Providing fixing of PVC wasdte	e pipe fo	r eac	ch 1.00	121.9	7 121.97	One hundred twenty one and ninety seven paisa only
	1	04	Providing and laying 60mm this factory made cement concrete interlocking paver block of Mimade by block making machine with strong vibratory compaction of approved size and design/shelaid in required colour and patt and including 50mm thick compacted bed of fine sand, fill joints with coarse sand etc. all complete as per direction of Engin-charge.	e 30 grade e ion and nape rern over	Sam	80.00	716.66	57332.64	Fifty seven thousand three hundred thirty two and sixty four paisa only
	105		Clearing jungle including uproot rank vegetation, grass, brush wo trees and saplings of girth upto 30 cm mea at a height of 1 m above ground and removal of rubbish upto a distantion of the cleared.	ood, asured level ce of	100Sq m	3200.00	10.56	33807.36	Thirty three thousand eight hundred seven and thirty six paisa only Thirty eight thousand four
	106	5	Supplying and stacking at site, goo	od	cum	160.00	240.17	38427.60	hundred twenty seven and sixty paisa only
	107	S o th ch m	arth preading of sludge, dump manur r/and good earth in required lickness as per directions of office large (cost of sludge, dump anure or/and good earth to be poparately)	er in-	cum	160.00	45.29	7246.56	Seven thousand two hundred forty six and fifty six paisa only
	108	Grainc the gras	assing with selection no. 1 grass luding watering & maintenance lawn for 30 days or more till the ss forms a thick lawn free from ds & fit for mowing including plying of good earth if needed (to gearth shall be paid separately.)	he	1005q m	1400.00	11.45	16027.62	Sixteen thousand twenty seven And sixty two paisa only
10		with Carri	grass turf age by Mechanical Transport St ement @ 15 Km	teel	on	145.64	282.39	41127.39	Forty one thousand one hundred twenty seven and thirty nine paisa only
11			@ 15 Km		ım	235.50	317.66	74809.61	Seventy four thousand eight hundred nine and sixty ne paisa only
111		ggreg	gates20mm @ 15Km			438.10	317.66	139168.11	One lac thirty nine thousand one hundred sixty eight and eleven paisa only
112			ates 40mm @ 15 Km	cu		521.43	345.32	180060.29	One lac eighty thousand sixty and twenty nine paisa only
113	-		oiling @ 20km	cui		99.37	307.32	30538.47	Thirty thousand five hundred thirty eight and forty seven paisa only
114	-		d cement @ 22 Km	cur		8.93	349.03	3116.85	Three thousand one hundred sixteen and eighty five paisa only
115	Sano	1@2	2 Km	Ton		6.64	392.61	2606.95	Two thousand six hundred six and ninety five paisa only
16	Aggre	egate	es20mm @ 22 Km	cum		1.58	392.61	620.33	Six hundred twenty and thirty three paisa only
17			s 40mm @ 22 Km	cum		1.01	426.77	431.04	Four hundred and thirty one only
18	Bricks	@2:	1 Km	No	1	1970.00	1.02	2001.57	Two thousand one and fifty seven paisa only Nine hundred one and
.9	Stone	soili	ng @ 21 Km	cum		2.00	451.00	901.99	ninety nine paisa only Six thousand nine hundred
0	Quarry	Sto	ne @20 Km	cum	1	15.90	440.12	6997.92	ninety seven and ninety two paisa only

of WSS Gundbal Androosa by way of laying/fitting SR sluic chamber, retaining wall/Breast guarter, lavortory block, sadle block, approach road and development fo premises under

	Joannent Order No: SE/HYD/SPN/	/Allot/JJM	11 D7 of 20	,22-23,	Dated: 10	/12/2022.
	and the second s		7	Rate	Amount	Amount in figures
NC.	Item of work	Unit	Qty 9.62	232.18	2233.55	Two thousand two hundred thirty three and fifty five paisa only
y by	Steel and cement @ 10 Km	Ton			6555.95	Six thousand five hundred fifty five and ninety five
**	Sand @ 13 Cm	cum	25.10	261.19		paisa only Two thousand two hundred sixty one and ninety three
23	Aggregates20mm @ 10Km	cum	8.66	261.19	2261.93	paisa only The thousand two hundred
24	Aggregates 40mm @ 10 Km	cum	7.80	283.91	2214.49	paisa only Savon thousand three
25	Bricks @ 10 Km	No	10596.00	0.70	7366.07	hundred and sixty six only
.26	Stone spiling @ 10 Km	cum	12.00	307.29	3687.46	eighty seven and forty six paisa only
27	100mm G/ 10 km	M	1600.00	4.96	7931.04	hundred and thirty one only
28	pipes upto 100 mm dia	МТ	94.37	232.18	21910.61	hundred ten and sixty one paisa only Four thousand one hundred
29	Carriage by Manual Transport Steel		11.88	349.73	4154.75	fifty four and seventy five paisa only
130	@ 200 m	Ton	74.67	162.82	12157.17	Twelve thousand one hundred fifty seven and seventeen paisa only
		Ton	365.10	322.18	117626.52	One lac seventeen thousand
131	Sand @ 200 m	cum	32.50	322.18	10470.73	Ten thousand four hundred seventy and seventy three
132	Aggregates 40mm @ 200	cum				paisa only Nineteen thousand six hundred twenty and thirty
133	Stone soiling @200	cum	51.68	379.65		seven paisa only Nine thousand fifty six and
134	cement 500 Mtr	Ton	27.38	330.80	9056.87	eighty seven paisa only Sixty two thousand eight
135	Sand @ 500 m	cum	108.86	577.72	62890.87	7 hundred ninety and eight seven paisa only
136	Aggregates 40mm @ 500	cum	9.45	624.55	5 5901.95	only
137	Stone soiling @500	cum	47.69	679.69	5 32412.3	Thirty two thousand for hundred twelve and thi one paisa only
138	100mm GI	mtr	1600.00	7.77	12424.8	Twelve thousand fou
139	pipes upto 100 mm dia	МТ	94.37	247.1	23320.59	Twenty three thousa

(Rupees One crore Sixty one lac ninety two thousand four hundred and eighty seven only)